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"Note —

Answers may be written, either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Attempt any four questions.
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(@) ~ Critically examine the role of financial intermediaries. 4'%
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(6)  Explain the endogenous money supply curve. 5
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(ay '_What is reserve 'money ?
am'“aa qs T 2

(b). What are the sources of change in reserve monev ? 3
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(¢)  Explain how money supply will be affected if there is an
increase in currency to deposit ratio and rise in time

deposit to demand deposit ratio. 3%
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It is gi\_/enb that the required reserve ratio is 10 per cent,
the desired excess reserve ratio is 5 per cent and the
desired currency to deposit ratio is 25 per cent. Find out
the changes in deposits, currency holdings and the money
stock for an‘open market purchase of Rs. 2,00,000 worth

government securities by. the central bank. 4
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Examine the role of public, commercial banks and the
central bank in the determination of money supply in an
economil. 5.5
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Ex'plain how the expectation hypothesis and segmented-

market hypothesis are extreme versions of the preferred—

habitat hypothesis. 6%
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Explain instrument instability. 3
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lllustrate how a long call position offers unlimited gains -
against rising price of the underlying asset but a fixed loss
if. the underlying asset’s price declines. 5
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Discuss the problems faced by monetary authorities. in
framing, and implementing monetary policy and the
eventual response of the policy towards the desired

effect. 4%
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.Under what conditions of the formation of an optimum

currency area likely to be beneficial ? 4
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“In the shert-run, monetary policy might be able to’

achieve either price level target or oufput target but not

both.” Critically examine the above statement. 55
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